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. Jack and Jill are climbing stairs starting from the first floor at the same time and travelling at constant

speeds. When Jack reaches the 11th floor, Jill reaches the 6th floor. Which floor will Jill be at when Jack
reaches the 15th floor?

A)7 B) 8 C)9 D) 10

Set 4 = {10, 20, 30, 40, 50}. The numbers in set B are each 100 more than the corresponding numbers in
set 4. What is the range of set B?

A) 40 B) 100 C) 500 D) 540
The product of 12345679 and my number is a number with all its digits the same. My number could be
A) 37 B) 60 C)78 D) 81

The area of isosceles right triangle T is twice of that of square S. What is the ratio of the length of a leg
of T to the length of a side of §?

A) 1:4 B) 1:2 C) 2:1 D) 4:1
How many integers between 1 and 100 have exactly 5 divisors?
A)O B) 1 C)2 D)3

Math books are for sale! If you buy two books, you can get the third one for half price. If each book
costs $6, what is the least that you can pay for 2016 math books at this sale?

A) 9999 B) 10080 C) 11088 D) 12096
If p is a prime, what is the product of the positive divisors of p“’?
A) p? B) p* C) p* D) p*s
The sum of the first _?  positive integers is 2016.

A) 60 B) 61 C) 62 D) 63

10 students in my class like mathematics, and 15 students in my class like English. If my class has 21
students, how many students like both mathematics and English?

A)4 B)5 )6 D)7

. Aregular polygon with each angle of measure 108° has _?  sides.

A)S5 B) 6 )7 D)8

. How many of the first 100 positive integers are double a prime?

A)15 B) 20 C) 25 D) 30
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. In the diagram at the right, any two adjacent points in the same column or

. Cy can build a bridge in 3 years. Di can do the same task in 6 years. Working together, Cy and Di can

build a bridge in _?  years.
A)l B) L.5 )2 D) 2.5

. I made a list of 2016 numbers. The first four numbers in order are 2, 0, 1, and 6. I continued to write

these same four numbers in the same order until I have written 2016 numbers. What is the last digit |
wrote?

A)2 B) 0 01 D)6

. am taking 10 tests this year. My average grade of the first 7 tests is 87. If my average grade on all 10

tests is a 90, what should my average be on the last 3 tests?
A)90 B) 93 C)95 D) 97

same row are the same distance apart. How many different squares may be
drawn whose vertices are 4 of the points in this diagram?

A)12 B) 14 C) 18 D) 20
Afm=2,a=0,t=1,and h = 6, then (m)(a)(t)(h) =

A)0 B)2 )6 D) 12
. If x is a real number and x # 0, which of the following must be negative?

A) (x - 5) B) [x - 5| C) - D) x
(S5x+4y+2z)—(-Tx +4y +5z) =

A) 12x -3z B)-2x+ 7z

C)-2x+8y+ 7z D) -2x + 8y -3z
. How many real solutions does (r2 - 4)(12 +4) =0 have?

Al B)2 0)3 D) 4

Which of the following is a factor of x* — 277

A)x+3 B)x-3 C)x+3 D)+’ -3

(4-a)l-a)-10=

A) (a+1)(a-6) B) (a+1)(6 - a)

C) (1 -a)a+6) D) (5 -a)(l - a)

10! - 8! =

A)10x9 B)10x9x8 (C)2! D) 89 x 8!
. (x=2016)*=

A) x> +2016° B) x* — 2016x + 2016°

C) (x +2016) D) (2016 - x)*

I'read 1/2 of a book, then read 1/6 of the remaining pages. I still have 55 pages left to read. How many
pages does the book have?

A) 132 B) 140 C) 144 D) 150

Steve’s army has 26 soldiers and Dan’s army has 24. Each of the two leaders sends s soldiers to slay off
a ogre. The ratio of the remaining soldiers of Steve’s army to Dan’s army is 3:2. What is the value of 5?
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A)4 B) 6 C) 10 D) 20

What are all values of x which satisfy X <x?

Ajx=1 Byo=x=1 Clx=-1 D)x=0
Which one of the following statements is true?

A)-10"=10" B)5 +5%=5"

) V' =|y D) 5" x 7% = 35"

Jerry sells his math book for $100 originally. After increasing the sales by p% then decreases the new
sales by p%, the final price is $99. Find the value of p. Assume that it is not negative.

A0 B)35 C) 10 D) 20
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Cy’'s cycle collection consists of 601 unicyeles, 400 bicycles, and some tricycles. If there are a total of

2016 wheels in Cy’s collection, how many tricycles does he have?
A) 205 B) 335 C) 615 D) 1015
Dr. Math is tricking his students: “Think of a nonzero number. Square it, then subtract the original

number, Then divide the current result by the original number, and finally subtract the original number.
What's the final result?”

A)-4 B)-3 C)-2 D) -1
Ifx#£-3 or-4, [L-}— ](1‘2+?x+12) =

x+3 x+4
A)2 Byx+7 C)2x+7 D)2x+12
Which of the following lines is perpendicular to the line 3x + 4y = 57
Aydx+3v=2 B) 44x + 33y =10
C)2lx+28y=1 D)yl6x—12y=6

[ began working on a speed exam at a rate of 10 questions per minute. After a while [ slowed down and
only did 7 questions per minute. [ finished all 88 questions in 10
minutes. How many questions did | complete before [ slowed down?

A) 50 B) 60 C) 70 D) 80

: s s 8,13 15
If a, b, and ¢ are unequal primes, how many positive divisors does a"b "¢~ have?

A) 1560 B) 1561 C) 2016 D) 2017

A round-robin tournament (or all-play-all tournament) is a competition “in which each contestant meets
all other contestants in turn”. 6 teams compete in a round-robin tournament. The top 4 teams with the
most credits will advance to the second round. For every match, the winning team gets one credit, and
the losing team gets nothing. There 1s no tie for each game. In the end, 3 teams with the same highest
credits, and the fourth team with the second highest credit, advanced to the second round. The fourth
team is the only team with the second highest credit. How many credits did the fourth team get?

A)0 B) 1 )2 D)3




